STM RAGE 3P SHORT POST CAN-AM PRIMARY

PART# 3001043

¥ o -0 QO O0Omm
#13 #4 #19 #16 #11 #24 #25 #26 #21 #2128 #19
= - SOLD SEPARATELY
(11 rigéﬁ \ ;Z ==3 g Q I
I I R
ITEM# PART# DESCRIPTION QTY]
1 3001009 RAGE 3 GEN 2 MOVABLE SHEAVE 1
2 3001010/3001007 RAGE PRIMARY GEN 2 FIXED SHEAVE AND POST CAN-AM “SHORT POST” 1
4 1001269 STM RAGE 3 ATV SPIDER (Torque to 500 ft/Ibs.) 1
5 3001005 SPIDER NUT RAGE PRIMARY (Torque to 550 ft/Ibs.) 1
6 3001032 STM ATV RAGE 3P COVER 1
7 1001546 COMPOSITE ROLLER-BUSHING STYLE PIN ROLLER KIT 1
13 3001011 ATV PRIMARY CLUTCH BOLT (m12x1.75x140MM SHcs) w/LOCK WASHER (Torque to 80 ft/lbs.)) | 1
14 3001037 STM PRIMARY BOLT SLEEVE 1
15 1001004/VH225 MOVABLE BUSHING W/ RETAINING CLIP 1
16 1810.590/VH131 COVER BUSHING W/ RETAINING CLIP 1
17 1001018 ATV RAGE 3 & 6 PRIMARY COVER SCREW SET (Torque to 105 in/Ibs.) 1
24 1001000 SLEEVED 2-WAY BEARING 47MM 1
25 1001019 ATV PRIMARY BEARING CLUTCH THRUST WASHER 2
26 3001034 SLEEVED 2-WAY BEARING CAP RAGE 3P 1
27 1001212 .075 THICK SPIDER SHIM 1
28 1001276 PRIMARY SPRING SPACER .125 SHIM 1
29 1001211 SUPERTIP ATV P-SERIES CAM ARM 3
30 1001200 SUPERTIP “R” & “P” SERIES CAM ARM BUSHING - 3PC SET 1
31 1001660 3 ARM NON-FIXED SUPERTIP CAM ARM TUNING FASTNER KIT 1
35 1001043 RAGE ATV PRIMARY COMPRESSION TOOL M14x1.5 (SOLD SEPERATELY) 1
36 1001322 CAM ARM CONVERSION PIN-5/16" NON-FIXED PIN FOR .470 WIDE WEIGHT 3
37 PATV ATV PATV PRIMARY SPRING 1

* * * Please visit website for item pricing * * *

STM Powersports
(248) 673-8408
www.stmpowersports.com 9/27/2023



https://stmpowersports.com/can-am-rage-3-gen-2-movable-sheave/
https://stmpowersports.com/stm-rage-primary-gen-2-fixed-sheave-and-post-can-am-short-post/
http://stmpowersports.com/stm-rage-3-atv-spider/
http://stmpowersports.com/spider-nut-rage-3s/
https://stmpowersports.com/stm-can-am-atv-rage-3p-cover/
https://stmpowersports.com/composite-roller-bushing-style-pin-roller-kit-for-stm-rage-3-6-spider/
https://stmpowersports.com/canam-stm-atv-primary-clutch-bolt-m12x1-75x140mm-shcs-with-3001037-sleeve/
https://stmpowersports.com/can-am-stm-primary-bolt-sleeve/
http://stmpowersports.com/movable-bushing-snap-ring/
http://stmpowersports.com/stm-atv-primary-cover-bushing-1810-590-cut/
http://stmpowersports.com/atv-rage-3-6-primary-cover-screw-set/
http://stmpowersports.com/sleeved-2-way-bearing-47mm/
http://stmpowersports.com/one-atv-primary-bearing-clutch-thrust-washer-2-required-per-clutch/
https://stmpowersports.com/sleeved-2-way-bearing-cap-polaris-can-am-rage-3p/
https://stmpowersports.com/075-thick-spider-shim/
http://stmpowersports.com/primary-spring-spacer-125-shim/
https://stmpowersports.com/supertip-atv-p-series-cam-arms/
https://stmpowersports.com/stm-supertip-r-series-and-p-series-cam-arm-bushings/
http://stmpowersports.com/cam-arm-pin-conversion-5-16-non-fixed-pins-for-470-wide-weights-bushing-style-cam-arm-pins/
https://stmpowersports.com/3-arm-non-fixed-supertip-cam-arm-tuning-fastener-kit/
http://stmpowersports.com/can-am-stm-rage-atv-primary-compression-tool-m14x1-5/
https://stmpowersports.com/atv-patv-primary-springs-2-1-4-load-1-1-4-load/



